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4,64>74>3*>8*>2,10*>5—>9—>1H>C4 Ccg, C10
A knot diagranﬂ Co c3 C7 C2 Cs Cy c1 n

o

Ideals for irreducible component#ﬂ)f Xpar

= w20+ b1, 20 — 203+ o+ 1, O+ 20+ —u—1)
Iy =, —u?4+a—1, u* —u?+2u—1)

* 2 irreducible components of dim¢ = 0, with total 39 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
It = (u542ud* 4. +b—1, —2u®® —2u*+...-+a+1, u342u35+...—u—1)

(i) Arc colorings

o ()

1
ag = 0
1
a7: _u2
—u
a3 = \uyd+u
u?+1
ag = \ —yt — 242
—ud —2u
az = ud +u
2 2B+ —du—1
a9 = 7u35—2u‘34++7u2+1
u? +2ud +u
as = \ —y” —3u® —2ud +u
u? + 100t + - + 6u® —4u
ag = u + 20t - —u—1
u35+u34_~_,_.+5u2_5u
ar = \ —u* —10u?? + -+ — 6u> + 4u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —u?® — 2u3% — 12033 — 22032 — 54431 — 93030 — 72029 — 137u?8 +
303u%7 + 296120 + 1632u?® + 1737u* + 3476u?® + 3488122 + 3688u?! + 3414u° +
109509 + 880u!'® — 1598u!” — 1475016 — 141405 — 1484w + 2443 — 396u'2 +

150utt + 124010 — 166w° + 148u® + 30u” + 48u’ + 66u® — 17u> + 24u? + 14u + 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 wl — 4+ 8u—1
Co,Cy w — 23 4+ 4190 — 17
c3,C6, C7 w42+ —u—1
c5, Co w4+ w120+ 8
c10 u® 4+ 16u3® + -+ 24u + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C8 Y3 — 16y + .- — 24y + 1
2,4 Y30 —26y3° + .- + 2461y 4 289
C3,C, C7 v 4+ 303 + -+ 5y + 1
¢s, Co y?0 — 21y + ... — 784y + 64
€10 y* +12y% + .. — 516y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.836039 + 0.1270831
a = —2.32698 — 0.334621
b= 1.30605 — 0.596941

5.69474 — 8.306461

7.90156 + 6.059941

u = —0.836039 — 0.1270831
—2.32698 + 0.334621
b= 1.30605 + 0.596941

5.69474 + 8.306461

7.90156 — 6.059941

u = —0.837370 4+ 0.0744901
a= 2.44021 + 0.218991
b= —1.346470 + 0.3533061

7.51295 — 2.380751

10.48437 + 1.263141

uw = —0.837370 — 0.0744901
= 2.44021 — 0.21899]
—1.346470 — 0.353306.1

7.51295 + 2.380751

10.48437 — 1.263141

—0.393001 + 1.1227301
0.839814 + 0.3877601
= —1.315580 — 0.5062231

2.65006 + 3.869361

5.24553 — 2.322851

—0.393001 — 1.1227301
= 0.839814 — 0.3877601
= —1.315580 + 0.5062231

2.65006 — 3.869361

5.24553 + 2.322851

= 0.773363 + 0.0510341
—0.111470 + 0.9163991
0.224431 — 1.0650401

2.25781 + 2.296891

7.21657 — 3.231521

0.773363 — 0.0510341
—0.111470 — 0.9163991
0.224431 + 1.0650401

2.25781 — 2.296891

7.21657 4+ 3.231521

—0.388829 4 1.1918507
—1.062240 — 0.6428761
1.360160 + 0.2420551

4.08196 — 2.029601

7.16240 4 2.616071

—0.388829 — 1.1918501
= —1.062240 + 0.6428761
= 1.360160 — 0.2420551

4.08196 + 2.029601

7.16240 — 2.616071




Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.741018
a = —2.98588 0.763718 8.86550
b= 0.930463

u= 0.316713 + 1.2302301
a= 0.731009 — 0.2806681
b= —0.073467 — 1.0418601

—1.35734 + 1.639141

3.47794 — 0.383591

u= 0.316713 — 1.2302301
a= 0.731009 + 0.2806681
b= —0.073467 + 1.0418601

—1.35734 — 1.639141

3.47794 + 0.383591

u= 0.110839 + 1.2788401
a= 0.199304 — 0.7796391
b= —0.585175 — 0.5097561

—3.23258 + 1.971041

3.37344 — 3.581231

u= 0.110839 — 1.2788401
a= 0.199304 4 0.7796391
b= —0.585175 + 0.5097561

—3.23258 — 1.971041

3.37344 4 3.581231

u = 0.444529 + 0.5433661
a= 0.840105 — 0.8825841
b= —1.105770 — 0.3246621

0.90728 + 4.097031

5.30644 — 6.773101

u = 0.444529 — 0.5433661
a= 0.840105 + 0.8825841
b= —1.105770 4 0.3246621

0.90728 — 4.097031

5.30644 4 6.773101

u = —0.027017 + 1.3156801
a = —0.29010 + 1.423441
b= 10.625122 + 0.6811261

—6.47860 — 1.166101

—2.74685 + 0.247671

u = —0.027017 — 1.3156801
a = —0.29010 — 1.4234471
b= 10.625122 — 0.6811261

—6.47860 + 1.166101

—2.74685 — 0.247671

u = —0.311343 + 1.2794201
a= 187121 +1.069721
b= —0.965876 + 0.1744071

—3.22138 — 3.796211

3.52420 4 4.064011




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

uw = —0.311343 — 1.2794201
a= 187121 —1.069721
b= —0.965876 — 0.1744071

—3.22138 + 3.796211

3.52420 — 4.064011

u= 0.335799 4+ 1.3033707
a = —0.797336 + 0.0669991
b= —0.336766 + 1.0949201

—1.97731 + 6.302621

2.30057 — 5.666741

0.335799 — 1.3033701
= —0.797336 — 0.0669991
= —0.336766 — 1.0949201

S
|

—1.97731 — 6.302621

2.30057 4 5.666741

= 0.543094 + 0.3610711
= —0.752914 + 0.8364911
1.016680 — 0.1060121

1.46636 — 0.533511

7.64819 — 0.276131

0.543094 — 0.3610711
—0.752914 — 0.8364911
1.016680 + 0.1060121

1.46636 + 0.533511

7.64819 4- 0.276131

—0.372314 4 1.3195601
= —1.30924 — 1.370831
= 1.323430 — 0.4418631

3.14977 — 6.728751

6.21840 4 3.943291

= —1.30924 4 1.370831
= 1.323430 4 0.4418631

3.14977 + 6.728751

6.21840 — 3.943291

= 0.210596 + 1.3688501
= —0.424656 — 0.4512111
= —0.759926 + 0.1358311

—3.87079 + 2.115241

4.29140 + 1.121671

= 0.210596 — 1.3688501
= —0.424656 + 0.4512111
= —0.759926 — 0.1358311

—3.87079 — 2.115241

4.29140 — 1.121671

= —0.365320 + 1.3516901
= 1.28028 4 1.564641

a
b

u

a

b

u

a

b

u

a

b

uw = —0.372314 — 1.3195601
a

b

u

a

b

u

a

b

u

a

b= —1.28411 4 0.656561

1.04241 — 12.631401

3.42125 + 8.031581




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.365320 — 1.3516901
a= 1.28028 — 1.564641

1.04241 + 12.631401

3.42125 — 8.031581

b= —1.28411 — 0.656561
= 0.096201 + 1.4079401

a= 0.333081 4+ 1.0185801 | —5.27687 + 5.749161 0. —6.404911
b= 0.995297 + 0.4960431

u= 0.096201 — 1.4079401

0.333081 — 1.0185801 | —5.27687 — 5.749161 0.+ 6.404911

b= 0.995297 — 0.4960431

u= 0.456356

a=—0.741212 0.789103 12.7730

b

= 0.450302

u = —0.157570 + 0.2789041
a= 0.40346 — 1.830691
b= —0.268417 — 0.5382561

—1.65748 — 0.636281

—3.12504 + 1.617841

u = —0.157570 — 0.2789041
a= 0.40346 4 1.830691
b= —0.268417 + 0.5382561

—1.65748 + 0.636281

—3.12504 — 1.617841




II. I¥ = (b, —u*+a—1, u®> —u?+2u—1)

(i) Arc colorings

w= (1)

1
ag = 0
1
a7 = _u2
—u
a3 = \y? —u+1
w? 41
ag= \—y2+u—1
—u?—1
az = \u? —u+1
uw?+1
aip = 0
1
as = 0
u?+1
ag = 0

0
ar = \u?-u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u? — 4u + 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ (u+1)3
C2,Cyq w—u?+1
3 ud Fu? 4 2u+1
cs, Co u?
Cg, C7 w4+ 2u—1
cg, C10 (u— 1)3
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C8,C10 (y_ 1)
C2,Cyq Y-yt +2y—1
3 2
c3,Cg, C7 Y’ + 3y +2y—1
Cs, C9 y3

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + v/=1CS)

Cusp shape

u = 0.215080 4 1.3071401
a = —0.662359 + 0.5622801
b= 0

—4.66906 + 2.828121

—1.84740 — 3.541731

u = 0.215080 — 1.3071401
a = —0.662359 — 0.5622801

—4.66906 — 2.828121

—1.84740 + 3.541731

b= 0

u=0.569840

a= 132472 —0.531480 2.69480
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (w4 1)) — 46 + -+ 8u— 1)
o,y (u® —u? + 1) (u3® — 203 4 -+ + 19u — 17)
€3 (u® +u? 4+ 2u+ 1) (3 +2u*® + - —u—1)
cs, Cg wd (w30 4+ u® 4 120+ 8)
Cs, C7 (u® —u? +2u— 1)(u*® +2u*° + - —u—1)
s (u—1)*(u® —4u® 4+ - +8u—1)
10 ((u—1)*)(u®® 4+ 16> 4 - + 24u + 1)

13



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,c8 ((y — D) (y*° — 16y* + - — 24y + 1)
Ca,Ca (2 —y? + 2y — 1) (%0 — 26y + - - - 4 2461y + 289)
c3,Cq,CT (v + 3% + 2y — 1)(*° +30y>° + -+ 5y +1)
cs, Co yP (3% — 219 + ... — T84y + 64)
c10 ((y = )°) (™ + 124> +--- = 516y + 1)

14



